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1. For the following statements circle T for true or F for false. A correct answer is worth 2 marks.
1

a) For flx) = 2x? + 5x — x + 7 and S4 the Simpson’s rule approximation for j f(x)dx , then the actual error
0

8i — j; ) dx

18 Zero.

() F

b) If 0 < flx) < g(x) on [0,00) and Jm fx)dx converges, then Jw 2(x)dx converges.
0 0
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¢) The integral r (3 + tan(2¢))d! is improper.
0

L I 17100
d) The integralf 22 lxl dx diverges.
0

e) The integral _{m dx diverges.
2

1
x(In(x))

f).thn?; = (1,3,2) and ¢ = (2,-1,1) then (3x?) -5 =0,
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2x +2x+1
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9. _I-sec3(x)dx = g,u_c.z(x) Aec(X) dx
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10. Evaluate I . (j cos(x?) dx ) dy by first reversing the order of integration.
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11. Use double integrals to find the volume enclosed by the two surfaces z = 36 — (x? +y?) , and

= 3(x? +y?).
% (x }) gé_rl UJ'&-W—Q. ([‘“;é)

X ; - 2 2 - -
4ok F Crrg) = 56 (2“?) TET e g !/él’ﬂ
1, 3 (x3) = 3 (x%+y?) = oot modes. | -
N g Vet ome = Rg({‘-ﬁ%\(x,%)o\q whore R = Ak ci,-b-r.w.'i‘cr’l.-a,.,,b
g . % caddun 2.
2 6 %

= g < 26-r°=3r?
= 36 = ¥r?

12. Use double integrals to find the area of the lamina which occupies the planar region enclosed by

x2,y=-2x,0<x<3

13. Find the x- coordinate of the center of mass of the triangular planar region D enclosedbyy =0,x =1,
and y = x if the density function is given by 6(x,y) = x.
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